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What is derived score or reference group score? Discuss in this connection
Sigma Score or Z-score, Standard score, T-score and Percentile rank, with
advantages and disadvantages.

A student obtained 65 and 68 in Bengali and Mathematics Examination. The
mean and S.D of Bengali 70 and 12 and mean and S.D. of Mathematics 75 and
20 in what subject the Candidate is better?

A Student scored 60 and 75 in Physics and Chemistry respectively, where mean
and S.D of the two Subjects are 55 and 90 and 6 and 12 respectively. What
would be their T-score value?

A Student R rank 5th in the class of 50 student, what would be the percentile

rank of R?




